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QUESTION 1

Which of the following statements is true about the following block diagram?

Mkeration
EF

A~ The loop will execute once and the iteration terminal, |I| will output a value of one
B The loop w ill execute once and the iteration terminal_m_ will output a value of zero
C. The loop will execute infinitely and the program will have to be aborted
Do The loop will not execute and the iteration terminal, m will return a null value

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: C

QUESTION 2

For implementing state diagrams that allow future application scalability, the best choice for a base structure is?
A. Sequence structure

B. Case structure

C. Formula node

D. Object-Oriented structure

Correct Answer: B
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QUESTION 3

What is the result in Array after the following code has executed?

EHN

Insert Inko Arra

A. A 1-Darray of {1, 4, 3, 2, 1, 0}
B.A1-Darrayof{1, 8,0, 1, 2, 3, 4, 6, 2}
C.A1-Darrayof{1,4,3,2,1,0,8, 6, 2}
D.A1-Darray of {1, 8,0, 1, 2, 2, 9}

Correct Answer: C

QUESTION 4

Clusters provide a user with which of the following benefits?

A. Clusters allow a logical grouping of related data elements.

B. Clusters increase the number of Connector Pane terminals of SubVI\\'s.
C. Clusters help to reduce wire clutter on the Block Diagram.

D. Both A. and C.

Correct Answer: D

QUESTION 5

Which of the following apply to Property Nodes? (Choose all apply)

A. Property Nodes allow attributes of front panel objects to be programmatically manipulated.
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B. Property Nodes can be used to u pdate the values contained in a front panel object.
C. More than one Property Node can be used for a single front panel object.
D. Property Nodes contained in a SubVI will always cause the front panel to be loaded in memory.

Correct Answer: ABCD
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